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DO YOU REMEMBER?

If you have read the Wall Street Journal from February 23rd to 27th  you should be able to answer the following questions based upon important articles relating to economics. The reference at the end of the answer tells you the date and page number where you can find the article upon which the question is based. 
1. Which group accounts for the largest job gains in the United States since the recovery began: (a) Whites, (b) Blacks, (c) Hispanics, (d) Asians? Click for answer.
2. True or False: NAFTA has resulted in Mexican companies locating production in the United States, thereby increasing U.S. employment.  Click for answer.
3. Annual R&D spending by pharmaceutical companies has been rising since 1996. What has happened to the number of new drugs approved by the FDA each year? Click for answer.
4. Over the past decade would a homeowner have been better off with a fixed-rate or adjustable-rate mortgage?  Click for answer.
5. What percent of total diamond production is due to DeBeers and its partners: (a) 20%, (b) 40% (c) 60%?  Click for answer.
6. What are fashion designers doing with new fashions to compete against knockoffs of their new designs?  Click for answer. 
7. SHAZ is one way to stop the spread of AIDS in Africa. What is SHAZ?  Click for answer. 
8. In addition to asking for a competitive price for equipment, what are Chinese companies asking U.S. suppliers of industrial equipment for in exchange for access to the market?  Click for answer. 
9. In recent testimony before Congress, did Fed Chairman Greenspan say that he supports or opposes tax increases to lower the federal deficit? Click for answer.
10. Why is Boston doing so much better than Philadelpha according to economist Edward Glaeser? Click for answer.
ANSWERS TO “DO YOU REMEMBER?” QUESTIONS
1. (c) Hispanics.  (See “Latinos Take the Lead in Job Gains” February 23, page A2.)
2. True.  (See “The Outlook” February 23, page A2)
3. It has been declining. (See “Drug Industry’s Big Push into Technology Falls Short” February 24, page A1.)
4. Adjustable rate mortgage because over the past decade interest rates have been declining. (See “Fed Chief Questions Loan Choices” February 24, A2) 
5. c. 60% (See “DeBeers Is in Talks to Settle Price-Fixing Charge” February 24, page A1)
6. They have reduced the time it takes the new fashion to go from design board to the store by 20 percent.  (See “Making Fashion Faster” February 24, page B1.)
7. SHAZ offers young girls access to training, loans, and jobs so that they do not have to rely on wealthy men to pay for their education and livelihood in exchange for sex. (See “Saying No to ‘Sugar Daddies’ ” February 25, page B1)
8. They are asking for access to the technology to be able to build the equipment too. (See “China’s Price for Market Entry: Give Us Your Technology Too” February 26, page A1)
9. He opposes tax cuts, but supports reducing Social Security and Medicare benefits. (See “Greenspan Opposes Tax Increases” February 26, page A2)
10. Because Boston has a skilled and well-educated workforce. Boston specializes in smart people. (See “If  a City Isn’t Sunny—and Air Conditioned—It Should be Smart” February 26, page A2)
Return to Questions 
Greenspan Favors Entitlement Cuts
Fed Chief Sides With Bush
In Opposing Tax Increases;
Draws Fire From Democrats

By GREG IP 
Staff Reporter of THE WALL STREET JOURNAL


WASHINGTON -- Federal Reserve Chairman Alan Greenspan sided with President Bush by strongly opposing any tax increases to contain the spiraling budget deficit, instead proposing that the government scale back Social Security and Medicare benefits.
1. 
Define a budget deficit and explain how tax increases or spending cutbacks affect a deficit.
Mr. Greenspan struck a sensitive election-year nerve and drew swift criticism from Democratic presidential candidates. Sen. John Edwards of North Carolina said it was "an outrage" for Mr. Greenspan to suggest making tax cuts permanent on "unearned wealth while cutting Social Security benefits that working people earn." Front-runner Sen. John Kerry of Massachusetts said the way to address the deficit was to roll back tax cuts for the wealthy and "the wrong way to cut the deficit is to cut Social Security benefits. If I'm president, we're simply not going to do it."

Mr. Bush distanced himself from Mr. Greenspan's comments, telling reporters he doesn't want to cut Social Security benefits for those near retirement.

Mr. Greenspan told the House Budget Committee that raising taxes by enough to solve the deficit would "pose significant risks to economic growth and the revenue base." Those risks, he said, "warrant aiming to close the fiscal gap primarily, if not wholly," though spending cuts.

2. How would increasing taxes risk lowering economic growth? Demonstrate your answer using AS/AD curves. 

 At the same time, he repeated his longstanding view that Social Security benefits should be pegged to a price index that measures inflation differently from the consumer-price index now used. He prefers the "chained" consumer-price index, which better reflects how consumers spend less on items that become costlier. Since 2001, inflation has averaged 2.1% according to the regular CPI, but 1.8% according to the chained CPI.

3. 
If the chained CPI more accurately measures true inflation faced by retirees and the current increases in Social Security are adjusted using the regular CPI, what has been happening to Social Security payments over the past few years in real terms? Explain your answer. 
He also repeated his view that retirement ages for both Social Security and Medicare, slated to rise to 67, should be linked to increases in life expectancy.

In broader comments on the economy, Mr. Greenspan said the risk of deflation has faded considerably; gave a preferred range for the Fed's goal of price stability that underlined his scant tolerance for any rise in inflation; and noted that high growth in productivity and unused economic slack should "keep a lid on inflation."

4. 
Using the AS/AD model, show how high growth in productivity and unused economic slack keeps a lid on inflation.
It was his comments on the budget that drew the most attention, though. Mr. Greenspan has long said the budget should be balanced by cutting spending rather than raising taxes. But he was more emphatic Wednesday, implicitly repudiating Democrats' calls to roll back the bulk of Mr. Bush's tax cuts.

Mr. Greenspan said that over time tax revenues are determined by economic and productivity growth. "If there are significant increases in taxation, risks are there to the long-term economic outlook, and therefore, the revenue base itself." Mr. Greenspan repeated his support for extending all Mr. Bush's tax cuts, which expire over the next decade, but only if paid for with spending cuts elsewhere.

5.
Demonstrate the effect of simultaneous tax cuts that increased productivity and spending increases on the economy in the short run and in the long run.
Mr. Greenspan and most independent analysts agree that even if taxes hadn't been cut in 2001 and 2003, they would have to rise drastically to pay for the surge in Social Security and Medicare benefits to retiring baby boomers. Neither Mr. Bush nor his Democratic rivals have specified how they would deal with that looming crunch.

Mr. Greenspan said in response to a question that the probability of deflation, or generally declining prices, "which was a year ago very low, is now much lower," though not zero, citing the behavior of goods prices. Owing in part to the declining dollar, which pushes up the price of imports, and rising commodity prices, consumer-goods prices excluding food and energy were unchanged in January after 16 consecutive monthly declines. That suggests the Fed may soon declare that inflation risks are balanced.

Mr. Greenspan also for the first time put numbers on his definition of price stability, the Fed's ultimate goal, saying it "probably" means inflation of between 0.5% and "a little under" 1%, although he didn't specify according to which price index. "In that regard, I think we are at price stability," he said. Inflation excluding food and energy is now between 0.8% and 1.1%, depending on the index. That suggests Mr. Greenspan may be more inclined to raise rates to prevent any increase in inflation than some of his colleagues, who have suggested a preferred range of 1% to 2%. Mr. Greenspan, however, said he and his colleagues "all agree where we want to be." Though some officials want to publish an inflation target, Mr. Greenspan said such a target wouldn't change how the Fed operated.

Separately, existing-home sales fell 5.2% in January to a 6.04 million annual rate from December, the National Association of Realtors said, though that remained a strong pace. The inventory of homes on the market rose to 4.4 months from 4.3 months, while the median home price rose 5.4% to $168,700 in January from January 2003.

Write to Greg Ip at greg.ip@wsj.com 

Updated February 26, 2004
ANSWERS TO ARTICLE ANALYSIS QUESTIONS
Refer to chapter 24 Colander’s Economics and chapter 9 Macroeconomics for help when answering these questions.
Refer to chapter 11 in McConnell’s Economics and Macroeconomics for help when answering these questions.

1. A budget deficit is government spending in excess of government revenue. Actions that either reduce spending, such as spending cutbacks, or increase tax revenues, such as tax increases, will reduce the deficit. Return to article.
2. If increasing taxes reduces investment in productive capacity of the economy, the aggregate supply curve would not shift out to the right as much as it would have otherwise. This would result in lower output (lower growth) than would otherwise have been the case. In the graph below, the SAS curve would shift only to SAS1 instead of to SAS2 and output would rise to only Y1 instead of to the greater Y2.
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Return to article.

3. To the extent that the regular CPI overstates true inflation, Social Security payments have been increasing at a greater rate than inflation and Social Security payments have been rising in real terms. That is, Social Security payments adjusted by the regular CPI can purchase a greater quantity of goods than before. Return to article.
4. To have slack in the economy means that resources are underutilized. This means that production can rise without bidding up labor or resource costs so that inflation need not rise. An increase in productivity would do likewise. In terms of the AS/AD model, if an economy begins at point A (equilibrium) and productivity rises, the SAS and LAS curves will shift to the right. Output will be below potential, and aggregate demand can rise (shift AD0 to AD1) without inflation rising to point B.

[image: image2.wmf]Output

Price  level

SAS

0

Y

1

Y

0

AD

0

SAS

1

P

0

LAS

0

LAS

1

AD

1

A

B

. 
Return to article.
5. Suppose the economy begins at point A. The effect of a tax cut and spending cut would nearly offset one another, so the AD curve shifts in from the spending cut but back out from the tax cut. The economy remains at point A. To the extent that the tax cut also increases productivity, the LAS will shift out to LAS1. As price pressures fall, the SAS curve will shift to and SAS1 and the economy will move to point B in the long run with a lower price level and higher output.
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Return to Top
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